Ratio to Pythia 6.428 370

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

7000 GeV pp Top (parton level)
E | I I I | I I I | I I I | I I I |§
. - M (ttbar) (pTtt > 50 dy < 0) -
= A Pythia 6.428 370 =
[~ Pythia6.428 371 =
107 =7 - v-. pythigietheung,, =
- Pythia 6.428 376 = -
107 g E
107 £
107 = =
107 = =
= =
CANAT .
107 Er | - =
107 glr =
T R N S R =
1 I ' | ' ' ' | ' ' ' | ' ' ' =
5 = . =
F e ) . -
1 - L5 ':T‘; e e nees enttems %, 7. w _“ 2y ?“E__ ! ' -
o S L X ) ¥ 3 YTV Sew § 5

A G Yy 'y 4 4 \ A&
[ Yy Y ¥y
L : :}*‘ lY —
BlE l

05 (- | i 0.5

200 400 600 800 1000



	Contents
	Page 1


